SBI & SBI RURAL BUSINESS PO EXAM

Exam Held On : 18-04-2010

REASONING [

L

[ev & certain code language ‘how
many goals scored” s written as
1387 'many more malches' is
written as 'Y 8 2" and “he scored

five is written as*1 6 3. How is |,

‘goals written in that code lan-
Euage ?
(1] o
W5or7
(4} Data inadequate
11 None of these

2 7

- In a cerlain code TEMPQRAL is

wirlllen as OLDSMBSE. How ia
CONSIDER written in that code 7

{1) RMNBSFE]
12) BNMRSFES
(3} RMNBJEFS
(4} TOPDQDCH
13] Nune of thesc

. How many meaningful English

words can be made with the et
ters DLED using each letter only
once i each waord 2

[1) None {2} One

§31 T (4] Thirees

(50 Mare 1nan threr

SdunenE AL B O, O anel E each

Niving differenr weighe, 1 3.
heavier than only 4 and € .
lighter than B and L. Whn among
them is the heavicst ?

B (M E

Iy L

b Dada inadeoatg

(5 None of these

Tach wild diglt in the number
NZA31BT 1s substitated by the
next higher dight and each even |
Hgltis substituted by the previ.
bus lower digit wnd thee digits so
obtatned cre rea reanged in as

rending order. which of the ol

lowing will be the third dipit from
the left end «alter the rearrange-

ment, ?
maz {214
(35 4G

(3 None of these

8 Pratap porrectly rememibers that

10,

his mother's hlrtﬁday is before |

twenty third April bul after nine-
teenth April. whereas his sister
correctly remembers that their
mother's birthday is not on or af-
ter pwenty mecond April. On
which day in April is definitely

‘their mother's birthday ?

(1) Twentleth

{2) Twenty-first -

(3} Twentieth or twenty-first
(4] Cannot be determined
I5) None of these

- Ashok started walking towards

South. After walking 50 metres
he took a right turn and walked
30 metres. He then took a right
turn dnd walked 100 metres. He
again took a right turn and
walked 30 metres and stopped.
How far and in which direction
was he from the starfing point 7
{1} 50 metres South

{2) 150 metres North

(3] 180 metres Easi

{4} 50 metres Nérth

(5] None of these

If '+’ means '+'; =* nleans 'x": "'

means '+’ and ‘+' means -
them —
1F—Bx.6+_12+4v_-?
{120 _ {228
'S T
(38 3 .HI 15

3 None of these

. Town D is towards East of town

F. Town B ia towarde North of
town D. Town H s towards
South of towm B, Towards which
direction Is town H from town F 7
[1] East

{2) South-Easl

(3) North-East

(4} Data inadequate

[5} None of these

How many such pairs of letters
are there In the word SEARCHES
cach of which has as many let-
ters between them in the word
as in the English alphabet ?

1

{1)None (2) One

{3} Two (4] Three

(5] More than threc

Directions (11 - 1%) : [0 ra0h

of the questions below are given o
statements followed by four concln
sions aumbered [, I1 1] and IV, Yoo
have to take the given statements 11
be true even {f they seem to be al vari
ance from eommonly known fiois
Read all the conelusions and 1hen (-
citle which of the gheen conclinsions
logically follows fram the given stat:
ments disregarding commony knowi:
Mfacts.

11, Statemnents:

All cups are bottles.

Somie bottles are jups,

No jug 1 plate.

Some plates are tables,
Concl : '

. Some tables are bot| 1
Il Same plates are cups.
1. No table 1s botile.

IV. Some jugs are cups,

(1) Only I follows

(2) Only Il follows

{3} Only 1 follows

(4] Only IV follows

15 Only elther [or 11 o

11, Btatemments :

Some chairs are handles.

All handles are pots,

All pots are mats,

Some mats are buses.

Conclusions:

I Some buses are handles,

I1. Some mats are chairs.

1. No bus 18 handle.

IV. Some mate are hand|es,

(1) Oniy 1, [l and IV [ollow

(2) Cnly I, I and IV [ollow

{3} Omly either I ar 11 and 1l fal-
low

(4) Only either Tor N7 and 1v (o]
low

{3) Only either I or 1T and 11 aned
IV follow




13. Statementy :

All birds are horses.

All horses are tigers.
Some tigers are lions.
Sorne lions are monkeys.
Conclusions :

. Some tigers are horses.
II. Some monkeys are birds.
111. Some tigers are birds.
V. Some monkeys are horses.
(1) Only L-and NI follow

(2) Oy 1, 11 and 111 follow
{3) Only I1, T and IV follow
(41 Al 1, 10, M and IV follow
(5) None of these
Statements

Some benches are walls.

All walls are houses. '
Some houses are jungles.
All jungles are roads.
Conclusions :

1. Some roads are benches.
II. Some jungles are walls.
11l. Some houses are benches.
V. Some roads are houses.
{1} Only I and Il follow

(2) Only 1 and 111 follow

{3 Only 1l and 1V follow

{(4) Only I, Il and 1V follow
{5 None of thise
Statements

Some sticks are lamps.
Some flowers are lamps,
Some lamps are dresses,

All dresses are shirts.
Conclosdons :

I. Some shirts are sticks.

11, Some shirts are flowers.
I!l. Some llowers are sticks.
V. Some dresaes are aticks.
(1} None follows

(2] Only 1 follows

{3) Only 11 follows

{4} Only 111 follows

{5) Only IV follows

*

14.

15.

Directioms (16 - 20) : Study the |

iollowing information carefully and an-
swer the questions given below :

A B C,DEF GandH are
cight employees of an organization

working in three depagiments viz. Per-
sunnel, Administration and Marketing
with not more than three of them in
any depariment. Each of them has a
different cholce of sports from foot-

ball, cricket, volleyball, badminton,

lawn tennis, basketball, hockey and

-table tennis not necessarily in the
 same order.

D works in‘Agministration and
does not like either feotball or cricket.
F works in Personnel with only A who
likes table tennis. E and H do not work
in the same depariment as D. C likes
hockey and does not work In market-
ing. G does not work in administra-
tlon and does not like either crickel
or badminton. One of those who work
in administration likes football. The
one who likes volleyball works In Per-
sonnel. None of those who work in Ad-
ministration likes either badminton oc
lawn tenfiis. H does not Wke cricket.

18. Which of the following groups of
employees work In Adminisira-
tion department ?

{1) EGH (2) AF

(3) BCD (4) BGD

{5) Data inadequate

17. In which department does E
work ? ;

[1) Personnel

(2) Marketing

mm;um

4 Dﬁnlmdﬂqum

~ [5) None of these
18, Which of the fallowing combina-
tions of employee-department-
favourite sport ks correct ?
[1) E-Administration -Cricket
(2) F-Personnel -Lawn Tennis
. (3) H-Marketing -Lawn Tennis

(4) B-Administration'-Table Ten-

nis

(5) Nonie of these

19, What is E's favourite sport ?

(1) Cricket {2y Badminton

(3) Basketball (4) Lawn Tennis

(5) None of these

20. What is G's favourite sport ?
" (1) Cricket |

(2) Badminton

(3) Baskethall

(4) Lawn Tennis

(5) None of these

Directions (31 - 38) : In the fol-
lowing questions, the symbols @, &,
k , # and 8 are used with the follow-
ing meaning as fMustrated below :

‘P 8 Q" means 'P Ia not smaller
than Q'

‘P @ ﬁ means 'P is neither
amaller than nor equal to Q'

‘P # Q' means 'P ls nelther,

greater than nor equal to Q.

‘P § Q' means ‘P is neither greate:
than nor smaller than @'

‘P * Q' means ‘P s not greater
than @'

Now in each of the following ques-
tions assuming the given statements
to be true, find which of the four con-
clusions 1, I1, HI and IV given below
them is/are definitely troe and give
your answer accordingly.

21. Statements:
H&T, T#F FAE,
Conclusions: | VSF
II. E@T
MHH@V
V.T#V

(1) Only I, Il and [Il are true

(2) Only 1, Il and [V are true

(3) Only IL. Ill and IV are true

{4) Only I, [l1 and IV are true

(8) All 1, oL, Il and IV are true

23. Statements :
D#R R*K K@F F5J
Concluslons: I. J #R
. J #K
IM.R #F
IV.K@D
(1) Only 1, It and Il are true
{2) Only I1. 11l and IV are true
{3) Only 1, 11l and IV are true
{4) All 1, 11, 111 and IV are true
{5) None of these
Statements :
NEB, BEW, W#H H#*M
Conclusions: | M@W
I, H& N
. Wa&N
V. Wi N
(1) Only I is true
(2} Only 1 is true
(3] Only 1V is true
{4} Only either 11l or [V is true
{5) Onk either 11l or IV and | are
true

24. Statements:
R*D DSJ
K
Conclusions: [. K # J
In. oDaem
LR # M
V.D@K

(1) None is true

(2] Only I is true

{3) Only 11 is true

{4) Only [il is true

(5) Only IV is true

E &V

Jé#M Ma



25. Statements:
MSHK K&N N*R R#W
Conclusions: . W& K
II. M &R
K aw
W.M@n
(1) Only | and 1l are true
(2) Only 1, Il and I are true
(3) Only IIT and IV are true
(4) Only 11, 11l and IV are true
[5) None of these
Directions ( 26 - 30) : Study the
[ollowing information carefully and an-
swer the questions given below :
Following are the conditions for
selecting Senior Manager-Credit in a
bank. The candidate must —
[l be a graduate in any discipline
with atleast 60 percent marks.
{il have post qualification work ex-
perience of at least ten years in
the Advances Section of a bank,
{tl} be at least 30 years and not more
than 40 years as on 01.04.2010.
iiv] have secured at least 40 percent
marks in the group discussion.
have secured at least 50 percent
marks in interview,
In the case of a candidale who .
satisfies all the conditions EX-
CEPT -
al (i) above but has secured at
least 50 percent marks In gradu-
ation and at least 60 perepnt
marks in post graduation in any
discipline the case {8 to be re-
ferred to the General Manager-
Advances

vl

(B

-

qualification work experience of

at least seven years out of which

at least three years as Manager-

Credil in a bank, the case is to

be referred to Executive Direc-

tor.

In each question below detalls
of one candidate is given. You have
to take one of the following courses
of aclion based on the information
provided and the conditions and sub-
conditions given above and mark the
number of that course 'of action as
vour angaver, You are noi o assume
dayitiling oot than the infarmatinn
provided in each question. All these
cascs are given to you as on
01.04.,2010.

Glve answer (1) If the case i3
to he referred to Executive Director.

at [il) above but has total post |

Give answer (3) 1 the cage is to
be referred tn General Man.agu*—ﬁd-
VANCEes.

Give answer {3] if tho: data are
inadequate (o take a decision.

Give answer [4) f the mndjdnte
ig not to be selected.

Give answer (B) if the candidate
is to be selected.

26. Shobha Gupta has secured 50
percent marks in the Interview
and 40 percent marks in the
Group Discussion. She has
heen working for the past eight
years out of which four years as
Manager-Credit in a bank after
completing her B.A. degree with
80 percent marks. She was
born on 12th Seplember 1978.
Rohan Maskare was born on
8th March 1974. He has been
working in a bank for the past
twelve years after his
B.Com. degree with 70 percent
marks. He has secured 50 per-
cent marks in both the Group
Discussion and the Inlerview.
Prakash Gokhale was born on

4th August 1977. He has se-

cured 65 percent marks in post
graduation and 58 percent
marks in graduation. He has
been working for the past ten

years in the Advances Depart- -

ment of a bank after completing
his poat graduation. He has se-
cured 45 percent marks in the
Group Discussion and 50 per-
cent marks in the Interview,

Sudha Mehroira has been work-
ing in the Advances department
of a bank for the past twelve
yeara alter completing her
B.Com. degree with 60 percent
marks. She has secured 50 per-

cent marks in the Group Dis-

cussion and 40 percent marks
in the Interview, She was born
on 15th February 1972,

. Amit Narayan was barn on 28th
May 1974. He has been work-
ing In the Advances department
of & bank for the past eleven
years afler mmrpleung his B.5:,
degree with O3 puaieas 5.0
He has secured 55 percent
marks In Ll';ci}mup discussion
and 50 percent marks in the in-
terview,

Mrections (31 - 38) : In eacl)
question below 18 given a statemen:
lollowed by three courses of activ
numbered {A). {B) and [C). A course o)
actlon is a step or administrathc ok
cision to be taken for improveinent
follow-up or further action In regard
to the problem, policy. etc. On th
basls of the Information given in (v
statement, you have to assume cvery
thing in the statement to be Lrue, then
decide which of the suggested covrse-
of action logically follow{s) for pursn
Ing.

31. Btatement : A heavy unscasonl
downpour during the last twn
days has paralysed the norma!
life in the state In which five per
sons were killed but this has
provided a huge rellel 1o hi
problem of acute water crisis in
the state.

Courses of action :

) The state government shoul
set up a commiltee to review
the alarming situation.

{B) The state government shoulil
immediately remove all thr
restric on use of poladil:
water in all the major rities
in the state.

[C) The state government should
senid relief supplies (o all the
affected areas in the staie.

(1] None (2) Only [A)
{3) Only (B) and (C)
{4) Only (C)

(5) All (A), (B) and [C)
Btatement : A large peivate bank
haa decided to retrench one-third
of ils employees in view of the
huge losses incurred by il dur
ing the past three quarters.
Courses of actlon :

(A The Government should (s
a notification to general
public to immediately stop all
transactions with the bank

(B) The Government should
direct the bank (o refrain
from relrenching
employees,

(C) The Government should ask
the central bank of thre
country tw inibate dn coyuli,
lute L~ bank's activities and
submit its report.

(1) None (2) Only (A)

(3) Only (Bl  (4) Only (C)

(5) Only (A) and {C)

18



33. Statement : Many political ac-

35

tivists have decided to stage
demonstrations and block traf-
fic movement in the city during
peak haurs to protest against the
steep rise in prices of essential
commodities,

Courses of action :

(A] The: Government should
immediately ban all forms of
agitations in the country.

(B) The police authority of the city
should deploy additlonal
forces all over the city to help
traffic movement in the city.

(C) The state administration’
should carry out preventive
arrests of the known
criminals stayingin the city.

(1)Only (A} (2] Only (B)

(3) Only (C)

(4] Only {A) and (B)

[5) None of these

. Statement : The school dropout

rate in many districts in the state
has Increased sharply during the
last few years as the parents of
these children make them work
in the fields owned by others to
earn enough for them to get at
least one meal a day.

Courses of action :

(A} The G
up a mechanism to provide
food grains to the poor people
in these districts through
public distribution system to
encourage the parents to
send their wards to school.

(B) The Government should close
down some of these schools
in the district and deploy the
teachers of these schools Lo
nearby achools and also ask
remaining students to join
these schools.

[C) Government should Issue
arrest warrants for all the
parents who force thelr
children to work in fields
Instead of attending classes.

(1) Only (A)

(2) Only (B)

{31 Only (C)

{4) Only (A) and (B)

(5) None of these

: One asplirant was
killed due t6 stampede while par-
ticipating in a recruitment drive
of police constables.

rmment should put

Courses of action :

(A) The officials in charge of the
recruitment proceas should
immediately be suspended.

(B) A team of afficials should be
asked to find out the
circumstances which led 1o
the death of the aspirant and
submit its report within a
week,

{C) The Government should ask
the home department to stag-
ger the number of aspirants
over more number of days to
avold such incldents In fu-
ture,

(1) Only (A} ' (2) Only (B)
(3) ©nly [C)
(4) Only (B) and (C)
(5) None of these
Effect : Majority of the employ-
ees of the alling organization
opted for voluntary retirement
scheme and left the organization
with all their retirement benefits
within a fortnight of launching the
scheme.

Which of the following can be a

probable cause of the above ef-

fect ?

(1) The company has been
making huge losses for the
past five years and |s unable
to pay salary to Its employees
in time. ;

(2} The management of the
company made hoge

- personal gaina through
- unlawful activities.

(3] Onie of the competitors of the
company went bankrupt last
year.

(4) The company owns large
‘tracts of land in the state
which will fetch huge sum to
its owners.

{5) None of these

Statement : Most of the compa-
nies in IT and ITES sectors in
India have started hiring from
engineering college campuses
this year and are likely to recruit
much more than yearly recruit-
ment of the earlier years.

Which of the following substan-

tiates the facts stated in the

above statement ?

{1) IT and ITES are the only
sectors in India which are
hiring from engineering
college campuses. :

4

2] Government has siepped u)p
recruitment activities after o
gap of five years.

(3) The IT and ITES companices
have now decided Lo visit the
engineering college cam
puses for tier II cities in In-
dia as well,

(4) Availabllity of qualified eng|
neers will substantially in
crease in the near future.

{5) None of these

Camse : The Government has

cently increased Its taxes on

petrol and diesel by aboutl 10

percent.

Which of the following can be

possible effect of the ahove

cause ?

(1) The petroleum companies
will reduce the prices ol
petrol and diesel by about
10 percent.

(2} The petroleum companies
will Increase the prices of
petrol and diesel by aboul
10 percent.

{3) The petroleum companies
will increase the prices o
petrol and diesel by aboul &
percent.

(4) The petrol pumps will siop
selling petrol and diesel till
the taxes are rolled back lwv

the government.
(5) None of these

30. Statement : The Governmenl

has decided Lo instruct th

banks to open new branches in

such a way that there is one
branch' of any of the banks in

every village of population 1000

and above or a cluster of vil

lages with population less than

1000 to provide banking ser

vices to all the citizens,

Which of the following will

weaken the step taken by the

Government ?

(1) The private sector banks in
Indla have stepped up thei
branch expansion aciivitics
in rural India.

(2} Many Government owrid
banks have surplus mun
power In its urban branches

(3) All the banks including those
in private sector will follow
the government directive.



(4) Large number of branches of
many government owned
banks In the rural areas are
making huge losses every
year due to lack of adequate
business activities,

(5) None of these

Directions (40 - 43) : Study the

[oliowing information carefully and an-
swer the questions given below @

The centre reportedly wants Lo

tontinue providing subsidy to consum-
ers for cooking gas and kerosene for
[ive more years. This is not good news
from the point of view of reining in
thie: fiscal deficit. Mounting subventions
lor subsidies means diversion of sav-
ings by the government from Invest-
ment to consumption, raising the cost
ol capital in the process. The govern-
ment must cul expenditure on subsi-
dies to create more fiscal space for
investments in both physical and ao-
rial infrastructure. Tt shoulg outline a
plan lor comprehensive reform in ma-
jor subsidies including petroleurn, food
and fertilizers and set goal posts.

40. Which of the lollowing Is a con-
clasion which can he drawn
from the facts stated in the atwwe
paragraph ?

(1) Subsidy provided by the gov-
ernment under various heads
to the cilizen Increases the
vost of capital

i2) Governmeni is unable to with-
draw subsidies provided o
various items,

{3) Government subsidy on kero-
sene Is purely a political de-
clslon. '

(4) Govt. does not have enough

rees o continue provid-
ing subsidy on petrolewm
products

{5) None of these

41. Which of the [nllowing is an in-
{erence which can be made from
the facts stated in the above para-
graph ?

(1) India's flscal defieit is negll-
glble in comparison to other
emerging economies in the
waorld.

12) Subsidy on food and fertiliz-
ers arc essential for growth
ol Indian economy.

{3) Reform in financial seclor will
weaken India's position in the
international arena-

(4] Gradual withdrawal of sub-
sldy Is essential for effec-
tively managing fiscal deficit
in India.

{5) None of these i

43. Which of the following is an as-
sumption which is implicit in the
facts stated In the above para-
graph ?

(1) People in India may- nol be

able to pay more for petro- |

leum products.

(2} Many people in India are rich
enough to buy peiroleum
products at markel cost.

(3) Government may not be able
to create more infrastructural
facllities If the preseni level
of subsidy continues for a
longer time.

(4} Government of India has

. sought assistance from Inter-
national Ainancial organiza
tions for its infrastructural
projects

{5) Nene uf these

Directions (43 - 48 ) ; Study the

following Information carefully and an-
swer the questions given below .
Poverly measuremert I8 an un.
settled lssue, both conceptually and
methodologically. Since poverly is a
process as well as an oulcome; many
come aut of It while others may be fall-
ing into it The net effect of these bwo
parallel processes is a proportion com-
monly identifled as the *head count ra.
tio'. but these ratios hide the funda-
mental dynamism that characterises
poverty in practice. The most recent
poverly reestimates by an expert
group has also missed the crucial dy-
namism. In a study ronducted on
13,000 households which represented
the entire country in 1993-94 and again
on 2004-05, it was found that in the
ten-year period 18.2% rural popula-
Lion moved out of poverty whereas
another 22.1% [ell into it over this

period. This net increase of about four

percentage points was seen Lo have a
considerable variation across states
and regions.

43. Which of the following is a con-
clusion which can be drawn
from the facts stated inthe above
paragraph 7
(1) Accurate estimates of num-

ber of people living below

poverty line in India is pos-
sible 10 be made.

{2) Many expert groups in India
are not interesled (o nweasoe
poverty objectively.

(3) Process ol poverty measure
ment needs to take into ac
count viartous factors w twkic
its dynamic nature,

(4] People living below poverly
line remain in that position o
a very long ime

(5) None of these

Which of the following is ai as-

sumption which is implicit in

the facts stated In the above para
graph ?

(1) It may nol be possilile (o have
an arcurale poverly owsi
surement in India,

(2] Level of poverty in India is
static over the years.

(3} Rescarchers avoid making
conclusions on poverty e
surement data In India

{4} Government of India has o
mechanism to measure level
of poverty effectively il e
curately,

15) Nonie of these

Which of lhﬁﬂilﬂ#h 12 i an io

feremcq which can be mare from

the facts stated in the alune porn
graph ?

(1) Poverty measurement tools in
India are ouldated.

(2) Increase in number ol por
stns falling into poverty var
ies considerably across (e
country over a period of Lime.

(3} Government of [ndia has
stopped measaring poverly
relaied studies.

14} People: living in rural arcas ar
more susteptible o all into
poverly over the Ume

(5) None of these



Directions (46 - 50) : In each of the questions @ven'bélow which one of
the five answer figures on the right should mmmmmmm

B4. What is the total number of can
didates clearing the entrance

the left, if'the sequence were continued ? ey exam from States E and F (o
Froblem Figures Answar Figures gether in the year 2006 ?
i : ] (1) 16160 (2) 110660
i i § (3) 11066 (4) 1106600
46. dbj’ i j ] ‘E{ B Sy T el B S {E? (5) None of these
: i 88. What is the average number of
M@ & @ © candidates appearing for the en-
trance exam from State D in the
u”*[ l“ 1 uﬂ ﬂn 'WI IT“Eﬂ Tﬂ years 2007, 2008 and 2009 (-
47. 7" la J n P 5 ’T v . gether ? )
m @ A @ () 19075 () 18666,
< : < 1 —
48 |AOT ?n 0| aslLz fa ?z_ y. = b * @ 18667 @) 180666
2ol LY 1 1k 3 . . (5 None of these
' n @ & @ ® " Directions (56 - 60) :Study Lhe
; given information carefully and answer
g o A ' the questions that follow :
49.| © | 00 KO ooQ An urn contains 6 red, 4 blue. 2
A K| K _[OA AK green and 3 yellow marbles,
{5) B8, If four marbles are picked at ran
dom, what is the probability thal
*oaloa [a,Z oo al least one Is blue ?
50. 8 *rt Fd (sl -] O 1Z G % 4 60
002z o0l O . : . ‘ol 8 () 3 :21;—;
ay (@ gy (5) y
R ot e w3
DATA ANALYSIS AND INTERPRETATION | 15 91

(3] Nane of these
Dil'ﬂﬂﬂﬁll‘(ﬂl - BH) : Study the fO]]OWI.I‘lI‘tﬂb].E caraful.l_v to answerthe | 87. If two marbles are picked al ran:
questions that follow : dom. what 1s the probability that

C in the same year ?

(1} 221: 148 (2) 218: 143

(3) 148: 221 (4) 143: 218
(5} None of these

In which year did the highest

number of candidates clear the
entrance avam from State D 7

exam from State A in the year
2007 ?

(1) 186820 ' (2] 11682
(3) 1868200
1820
(5) None of these

Number [N) of ﬂuﬂdn:-l.‘l:u m&mmh both are red ?
m.uummmmmmmmmum ] 1
muﬂngthlmmuﬂhﬁm & 2 3
State | A B C p | 'k | r 2 2

e @ = 4 -
Yarl [N PN [R[N[P[N[RP[N]B] NP 15 5

, : e i 8 (5) None of these

2004 11.23142 [1.04| 51 | L.11 32| 1.3 “l'ﬂ 36 |1.33 31 B8:-If three marbles are picked al
2005 |1.05(43 |1.12{621.07| 47 [1,15] 40 [1.18] 55| 1,24 | 24 random, what s the probability
2006 |2.04[38 [1.48]32]1.08] 28 [1.96] 35 |1.42| 49 | 1.88 | 26 .ﬁl?twuarehlucandnnnsynl
2007 (1.98|41 |2.07|43.(1.19]| 30 |1.88| 46 |1.88 4 1079129 . 3 1
2008 |1.66(53 |1.8150[1.56] 42 [1.83]60 [178] 57 | .86 | a2 M g 25
2009 [1.57{38 [1.73| 86 |1.64| 52 [2.01| 56 -warms 1.95 | 37 ' T I
51. What is the respective ratio of " (1) 2008 " (2 2008 455 - 16

{otal number of candidates clear- (3) 2009 {4 2007 (5) None of these

ing the entrance exam from State (5) N‘L‘F-'IB ud'ﬂwr. 89. Il four marbles are picked at ran

B inthe year 2004 tothose clear- | gg What 1 the number of candi- dom, what is the probability tha

ing the entrance exam from State dates riot clearing the entrance one i green, two are blue and

one is red ?

24 13
Wiss P
@ W .
) 15 K|

(5] None of T..h-:m:



60. If two marbles are plcked at ran-
dam, what is the probability that
either bath are green or both are
yellow ?

5 1
o @ 35

] 4
33 W T

(31 N.. eolthese
Directions (61~ 88) : Study the
givea pie-charts carefully to an-
swer the questions that follow :
Breakup of Number of Employees
working in Different Departments
of an Organisation, the Number of
Males and the Number of Emplay-
ees Who Recently Got Promoted In

Each Department
Break-UP of Employees Working In
Different Departments :

Total Number of Employees

= 3,600

Employees Warking in
Different Departments

Accounts |
20%

Break-UP of Number of Males

In Each Department Total Number |

Of Males In the Organisation =
2,040 Break-UP of Number of Males

Working In Each Department
P.cmunts

5%

| Production
50%

Iult-wll'“-iw
who recentiy got promoted In Each |-
Department

Total Number of Employees who got
promoted = 1,200
Number of Employses Who

61. Il half of the number of employ-

mm@npwmdrmmthc '

were males, what

mih:m_wcmt- 3

age of males who got promoted
ﬁmﬂurrdapuum?
(1} 61 229 ;
(3) 54 I'Hﬂ
(5) 38

aa. Whnththetﬂhlnumtnruﬂe
males working in the Production

and Marketing departmietiis to- |

gether ?
(1) 468 2) 812
(3) 582 4 72
(5) None of these
63. How many females work in the
Acocounts department ?
‘{11618 (2) 592
{3) 566 [4) 624 -
{5) None of these
Hmetotalnumbaro{unplmm
who got. promoted from all the
departments

together was what
percent of the total number of

employees all the de-
partments together ? (Rounded
ofl to the nearest Integer]
()56 (221
(3456 (4} 33
(5] 51

88. The number of employees who
got promoted from the HR de-
partment was what percent of
the total number of employees
working in that depariment ?

Irounded off 10.two digits alie
decimal) '

(1) 36.18 (2} 30.56
- (N a7.22 {4) 28,16
(5} Note of thesa

Directions (88 - 70) : Study the
grlph careflully to answer the ques
tions that follow

Percent Rise in Profit of Two

Companies Over The Years

¢ == Compnay L
- Compnay M

S S b = R 4 8 4 m

A 8 o ey T T AR e e

2004 2005 2006 2007 2008 L0
Years .

06. If the profil earned b}? Company
L in the year 2005 was Rs. 1.81
lakhs, what was the profil earned
by the compally in the vea
20067

‘(1) Rs.2.12 lakhs

(2) Rs. 2.3 lakhs

{3) Rs. 2.04 lakhs

{4) Cannot be determined
“(5} None of Lhese

if the profit carned by Conipany
M in the year 2008 was Rs. 1
63 lakhs. whal was the amouni
of profltearned by it in lhc vear
20067 .

{1) Rs. 2.16 lakhs

.(2) Rs.1.98 lakhs

(3) Rs. 2.42 lakhs

(4) Cannot be determined

(5) None of these

Whal is Lhe average percent rise

in profit of Company L over vall

the vears together ?

1 |
msg @ s,
(3 IBE 4) '.].'.l-'-r]I

A [
(5} None of these

68, Which of the following st
ments {3 TRUE with respect 10
the above graph ?

1) Company M made the high
eal profit in the year 20000



(2) Company L. made least prolit |

in the year 2003

{31 The respective ratio between
the profits earned hy Com-
pany L and M in the year
2006 was 6 : 5

(4} Company L madsg the highest
profit in the year 2008

(5} All are true

. What ia the percentage increase
in percent rise in profit of Com-
pany M in the year 2009 from
the previous year ?

(1} 25 (2) 15

(3} 50 [4) 75

(5] None of these _

Directions (71 - 78) : Study the
information carefully to answer the
questions that follow:

A school consisling of a total of

1560 students has boys and girls in
the ratio of 75 respectively. All the
students are enrulled in different types

ol hobby classes, viz: Sh:glng, Danc-

Ing and Painting, One-{ith of the boys

are enrolled in only Daneing classes.

Twenty percent of the girls are en-

ralled in only Painting classes. Ten

percent of the boys are earolled in ondy

Singing classes. Twenty four. percent

of the girls are enrolled In both Sing-

ing and Dary Logether. The
number of girls ¢nrolled In only Sing-
ing classes Is two hundred percent of
ithe boys enrolled in the same. One-
thirieenth of the boys are enrolled In
all the three classes together, The re-
spective ralio of boys enrolled in Danc-
ing and Painiing classes together to

the girls enrolled In the same 18 2: 1.

respectively. Ten percent of the girls
are enrolled in only Dancing classes

whereas efght percent of the glids are |

cnrolled in both Dancing and Painting
classes logether. The: girls
are enrolled in all the three classes
together. ifhe number ofboys enrolled
in Singing and Dancing classes o-
grther is fifty percend of the number
of girls enrolled In the same. The re-
maining bays are enrolled in only Palnt
ing classes.
71. What is the total number of boys
who are enrolled in Dancing ? |
(1) 318 (2) 364
(3) 202 (4) 434
(5} None of these

Singing is approxizatély what
percent of Lhe total number of
siudents in the school ?

(1) 37 (2} 10
(332 () 14
(5) 26 '

73. What 1a thetotal number of stu-
derits earolled-in all the three
classes together ?

(1) 135 (2] 164
(3} 1B7 4) 142
. (5) None of theae

74, Number of girls enrolled In only
Dancing classes is what percent
ﬁuuhnyaumhﬂnm?

{rounded off 1o two digits alter
decimal)
(1) 38.67 (2) 35.71
(3) 41.83 (4] 28 .62
(3} None of these

78. What s the respective ratio ul
the number of girls enrolled i1
only Painting classes to the tunn
ber of boys enrolled in (he same
(1} 77: 26 (2p21: 73
(326: 77 (973:21
(5] None of these

Directions (78 - 80) : Study the table carefully to answer the quesl itins

that follow :

mmummn&mwwm Months

Monthé -  |October
Bhopkeoper || 2008

Octobar] November
2000

December| Janwary

Hlmh
201

Hh'uir_r

2008 2010 2010

[=]

' 5.208 6.04

[t
=

5.84 6.10 5.95

4.84 428

4.97 4.68 5.04

=]

- 4.99 5.82

548 | 545 5.68 ¥

B.06 5.11

1
!
|
i
!
|
|
|

528 | 538 | 5.44 (

o

1 528 | 4.96

“i|inl

5.31 5.69 4.93

S

C:-!ﬁ'wﬂ'u

504 | 823

o fan E—"'!F-‘ e

567 |

6.07 6.19

[
[

. Total number of girls enrolled in |

T8, What Is the reapective ratio be-
tween the profit earried by shop-
keeper U in the months Febru-
ary <2010 and March--2010 to-
gether to that earmed by shop-
keeper Q) Inthe same months ?
(1) 837:512  [2) 831 : 508
(3) 512:637 (4508 : 621
{5) None of these

77. What is the percent increase In

d'lmim'ﬁln the
Decemnher -2009 over
mh?.lrmndad
after decimal)

the previoy

off to two

315, . (2267

@218, (9333

(8 None of theae -
umw;mtm

.. vy Increaaing continuoysly over the

given montha ?
R 29
{5) None of these
mmhmmlnpmt
L shopleeper T in Janu-
ary. ~2 ﬂ&umﬂu previous
month?
¢1) Ra. 640 . (D) Ra. 420
(3)Rs. 380  {4) Re. 760
"(5) None of these
80.. What was the average profit

-earned by shopkesper R in the

months aof October -2000 ani
Nevember - 2009 together ?
{1) 5406 (2) 5040

(3) 4825 (4) 4950

{5) None of these

Directions (81~ 85) : Study Ll

given graph carefully to answer ihi
questions that follow :

Oune Plece Bach Of Four Different
Ttems Of Furaiture

~§-Carpenter X - Carpenler v

Bed Cupboard

Chair Table

B). If carpenter X and carpenter ¥
were to make a chair together
how many days would they take

(1) 1 day {2) 4 days
[3) 3 days (4) 2 day=
(5) None of these



B2,

B3,

If carpenters X, Y and Z were to
make a table together how many
elays would théy Lake ?

1) 4 days (2) 3 duys

03 1 day 4] 2 days

i%) None of these

What is the total number of days
that carpenter Z wili taketo make
one piece each of all the four
ilems together 7

(132 days  (2) 24 days

1 I
A — &
14 sﬂdﬂ_‘-’ﬁ _[-’H LI!-Z days

[5) None of these

. The radius of a circular field is
equal to the side of a square fleld
whose perimeter is 784 feet.
What is the area of the circular
field ?
(1] 107914 sq.it
[2] 120736 aq.it.
(31 107362 sq.f1,
(4] 127306 sq.0t.
5] None of these

. It how many different ways can
the letiers of the word “STRESS'

he arranged ?
i1) 360 {2) 240
(3) 720 4 120

15 None of these
Directions (85 - D0) : Study the

given table carefully lo answer the
fjuestions that follow:
Number of People Staying in Five
Different Localities and the Per-
centage Breakup of Men, Women

[.aca

—————

it

and Children in Them

Total No.| Percentage
of People | Men| Women

¥

Chil-
dren
10

5640 | BB| 135

| 4850
5200

34
48

44
39

22
13

eI

2

a7.

6020
4900

685
42

28
41

10

(1) 1287 (2) 1278
(3) 1827 (4) 1728
(5] None of these
88, The number of women staying
in which locality is the highest ?
(1 H 2)J
[AF 4G
(6) None of these
. What Is the total number of men
and children staying in locallty |
together ?
(1) 4115 (2) 4551
(3) 4515 (4) 44565
(5] None of these
What is the respeetive ratio of
number of men staying in local-
ity F to the number of men stay-
ing in locality H ?
(11517416  (2) 403:522
(3) 416:517  (4) 522 :403
(5] None of these
81. The compound Interest carned by
Suresh pn a certaln amount at
the end of two years at the rate
of 8 p.c.p.a was Rs, 1,414.4,
" What was the total amount that
Suresh, got back at the end of
two years in the form of princi-
pal plus interest earned 7
(1) Re.9.414.4
(2) Rs.9.914.4 .
(3 Rs.9.014.4
(4) R=.8,914.4
(5) None of these
2. The respective ratlo of the
present ages of a mother and
daughter is 7 | 1. Four years ago
the respective ratio of their ages

M.

was 19 : 1. What will be (he
mother's age four years [rom
now ?

(1] 42 years  [2) 38 years

(3] 48 years (4] 36 years

(5] None of these

Three frends J, K and L jug
around a circular stadium and
complete one round in 12, 18 and
20 seconds respectively. [n how
many minutes will all the three
meet again at the starting puin ?
(s (2) 8

(3) 12 (4) 3

15) None of these

4 men can complete a piece ol
work in 2 days. 4 women vau
complete the same plece of work
in 4 days whereas 5 children can
complete the same plece of work
in 4 days. If. 2 men, 4 women
and 10 children work togelher.
in how many days can the wark
be completed ?

(1] 1 day (2] 3 days

(3] 2 days 4 4 days

(5) None of thegt

» The speed of a boat when

travelling downstream is 32
kmph whereas when travelling
upstream it is 28 kmph. What is
the speed of the boat in still
water ?

(1) 27 Kmph

(2) 28 Kmph

[3) 31 Kmph

(4) Cannot be determined

(5) None of these

Directions (96-100] : Study the following tables carefully and answis

the questions given below 1 ~

MIWMWWhlmﬂﬂn
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. Total number of people staying
in locality J forms apprexi-
mately what percent of the total
number of people staying in lo-
rality F ?

(1) 81 (2) 72
(3) 78 (4) 93
(5) 87

What is the total number of chil-
dren staying In localities H and [
logether ?

Examination :
Number of Candidates appeared in a Competitive Examination
: From Fve Centres Over The Years
Centre > | Mumbai | Delhd | Kolkata | Hyderabad | Chennai |
Year l
2001 35145 | 65138 | 45192 51124 37345
2002 | 17264 | 58248 | 52314 | 50248 | 48932 |
2003 24800 | 63309 | 58469 52368 Al406 |
2004 28316 | 70316 | 71253 54196 52315 |
2005 36503 69204 69632 58360 55402
2006 20120 | 59216 | 64178 | 48230 57365 |
2007 32438 | 61345 | 56304 49178 58402 I




Approximate Percentages Of Candidates Qualified To Appeared In the
mmmmrmnnmmfm;m

' Centre-> | Mumbal | Delhi | Kolkata | Hydérabad | Chenmai
Year | :
{ " ao01 12 24 18 17 9
| 2002 10 28 12 21 12
. 2003 15 21 R 10|
L2004 11 a7 19 24 8 |
2005 13 23 16 23 13
= oo 14 20 | 2 19 [T
AR T 24 20 4]
86. n which of Lthe fallowin Arsg
was the difference in nmfila:ruf ENGLISH LANGUAGE

candidates appeared from
Mumbai over the previpus year
the minimum 7

1) 2004 (2 2006

3 2007 4 2002

5] None of these h

was the number of candiiates
qualified from Chennal, the maxi-
mum among the given years ?
(1) 2007 2) 2008

) 2005 4 2003

i5) None of Lhese _
Approximately what was the
total number of canditates quali-
fiec| from Dyhi in 2002 and 2008
lugelther 7
{1} 27250
(3} 30150
(5} 26250

{2) 25230
{4) 28150

how many can-
didates appearing from Kolkata
in 2004 qualifi=d in the competl-
thve examination ?
(13230  (2) 13540
(% 15130 |4 15400
() 19240
100. Approximately what was the dif-
lerence between the number of
candidates gqualified from
Hyderahad in 2001 and 2002 ?

(1) 1680 (2) 2440
(3 1450 4 2060
(51 1860

. It which of the followlng years'

Directioas (101 - 118) : Read
the fotlowing passage carefully and an-
swer the questions glven below it
Gertain wordsfphrases have been
printed in bold 1o help you locate them
while answering some of the questions.

Governments have traditionally
equated economic pragress with steel
mills and cement factories. While ur-
ban centrea“thrive and clty dwellers
gel rich, hundreds of millions of farm-
ere remain mired In poverly. However,
fears of food shortage, a rethinking of
antpoverty prioriiles and the rrush-
ing recession in 2008 are causing a
dramatic shifi in world economic policy

In favour of greater support for agri- |

culture,

The last time the world's
farmers felt such love was In the
1970s. At that time, as food prices
spiked, there was real concern ihat
the world was facing 4 erisis in which
the planet was almply unable to pro-
duce cnough grain and meal [or an

expanding population. Government
across the developing world and in-

ternational aid organisations plowed
invesiment into agriculture in the early
1970s, while technological break-
throughs, ke high-yield satrains of
Important food crops, boosied produc-
tion. The result was the Creen Revo-
lution and food production exploded.
But the Green Revolution became
a victlm of its own success. Food prices
plunged by some 60% by the late
19808 from their peak In the mid-
1970s. Pollcy makers and ald work-
ers tumed thelr attention to the poor's
other presslng needs, such as health
care and education. Farming got
starved of resources and Investment.
By 2004, aid directed at agriculture
sank to 3.5% and “Agriculture lost its

10

glitter”. Also, as consumers In high
growth giants such as China amd [n
dia became wealthier, they began vt
ing more meat. 80 grain once used o
human consumption got diverted i
beel up Ivestock. By earty 2008 pan
icked buying by importing countries
and reatrictions slapped on grain o
perls by some big producers heljied
drive prices uplo heighls not seen Qo
three decades. Maling matbers wi s
land and resources got reallocatoed 1
produce cash crops such as blofuels
and the result was the voluminos
reserves of grain evaporated. Protest.
broke nut Across the emerging waorl i
and Merce lood rots toppled dovern
menls. :

" This spurred global leaders intn:
action. This made them aware thi!
foadd security is one of the fundaaen
tal issues in the world that has 1oL
dealt with in order to malntain admin
Istrative and political stability. This also
spurred the U.S. which traditionaliv
provistoned food aid from Ameriran
grain surpluses to help needy nations
to move towards investing in farm sec
tars around the globe to boost produs:
Livity. This move helped countries be
come mord productive for themselv
and be in & better position to feed thed
own people,

Africa, which missed out on the
first Green Revolution due o poe
policy and limiied resources., also wil
nessed a ‘change’. Swayed by the =
cess of East Asia, the primaty pov
erty-fghting method favoured iy many
policymakers in Africa was to get fum)
ers ofl thelr farms and inlo modern
joba in factories and urban centres.
But that strategy proved (1o be highh
insuffictent. Income levels in the enun
trysicde bhadly trailed those in citics
while the FAD estimated that the qum
ber of poor golng hungry in 2004
reached an all time hight at more than
ome billion,

It India on the other hand, wiith:
only 408 of its (armland irrigated. oo
tire ecanomlc boom currently under
way 1= held hostage by the unpredict
able monsoon. With much ol Tadi:
farming areas suffering (rom drowaghi
this year, the government will b s
tgugh time meeting its econome
growth targets. In a report, Goldm:
Sachs predicted that if this year on
receives weak rains, it could causc
agriculiure to contract by 2% this fis-



cal year, making the government's 7%
L:DPgrowth targel look “a bit rich"”,
Another green revolution is the need
ol the hour and to make it a reality,
the global community still has much
hackbreaking farm work to do,

101. What is the author's main objec-

live in writing the passage ?

{1} Criticising developed countries
for not bolstering economic
growth in poor natlons

(2) Analysing the disadvantages of
the Green Revolution

(3) Persuading experts that a
strong economy depends on
industrialisation ﬂnd: not agri-
culture

(4] Making a case fqar the interna-
tional society Lo engineer a sec-

ond Green Revolution

15) Rationalising the [aulty agricul-
ture policies of emerging coun-
tries

102. Which of the following is an ad-
verse impact of the Green Revo-
lution ?

(1) Unchecked crop yields re-
sulted in large tracts of land
becoming barren

(2) Withdrawal of fiscal impetus
from agriculture to other sec-
tors

(3) Farmers began soliciting gov-
ermmment subsidies for thelr
produce

(4} Farmers rioted as food prices
fell so low that they could not
make ends mest

(3) None of these

103. What is the author trying to con-
vey through the phrase “making
the government's 7% GDP growth
target look “a bit rich" ?

(1} Indian is unlikely to achieve
the targeted growth rate

[2) Allocation of funds to agricul-
ture has raised India's
chaneces of having a high GDP

i3) Agricultural growth has artifi-
clally inflated India's GDP and
such growth is not real

[4) India is likely to have one of
the highest GDP growth rates

(5} A large portion of India’s GDP

is contributed by agriculture |.

104. Which of the following factors
was /were responsible for the ne-
glect of the farming sector after
the green revolution ? '

W Steel and cement sectors
generated more revenue for
the government as compared
to agriculture,

(B) Large scale protests against
favouring agriculture at the
cost of other important sec-
tors such as education and
health care.

(O Attention of policy makers
and aid organisations was dl-
verted from agriculture to
other sectors.

(1) None {2) Only (C)

(3) Only (B) and ()

(4) Only (A) and (B)

(5) Al (A}, (B} and (C)

108. What prompted leaders through-
out the world to take action to
boost the agricultute sector in
2008 7 ]

(1) Coercive tactics by the U.S.

which restricted food aid to

poor nations

{2) The ‘realization of the link
between food security and
political stability

(3] Awareness that performance

in agriculfure is necessaty in

order to achieve the targeted
GDP

(4) Reports that high-growth
countries like China and In-
dia were boosting their agri-
culture sectors to capture
the international markets

(5] Their desire to Influence de-

veloping natlons to slow
dwmﬂmlr!nduﬂnaldmel-
Opment.

106, What motivated the U.S. to fo-
cus on investing in a,grlur:ulturc
across the globe ?

(1} To make developing countries
become more reliant on U.S.
ald _ .

To ensure grain surpluses so
that the U.5. had no need to
import food

(3) To make those countries more
self sufficient to whom it pre-

_ viously provided food :

(4) To establish itself In the mar-
ket before the high-growth g-
ants such as India and Ching
could establish themselves -

(5) None of thesg

107. What impact did the economic

recession of 2008 have on agri-

culture 7

11

(1) Governments equated eco-
nomic stability with industrial
development and shifted away
from agriculture

(2) Lack of implementation of
several innovative agricullur:
programmes owing to short-
age of funds

(3} It prompted increased invesi-
ment and interest in agricul-
ture

(4] The GDP as targeted by India
was never achieved because
of ipsses in agriculture

(5) None of these

108. What encouraged African policy
makers to focus on urban jobs

* (1) Misapprehension that it would
alleviate poverly as It did in
other countries

{2) Rural development out
stripped urban development
in many parts of Africa

(3) Breaking out of protests in (he
country and the fear that (he
government would topple

{4} Blind imitation of western maod-
els of develofnent

(5] Nonie of thess

108, Which of the following had con-
tributed to exorbitant food prices
in 2008 ?

(A} Hoarding of food stocks by lo
cal wholesalers which inad-
vertently created a food short-
age. ’

- (Bl Export of foodgrains was re-
duced by large producers.

[C) Diverting resources from cul-

" tivatlon of foodgrains to that
of more profitable crops

(1) Nome

Only (C)

13) Only (B)

* 4) All (A), (B) and (C)

(5) Only (B) and (C)

110: Which of the following is true
about the state of agriculture in
India at present ?

(Al Of all the sectors, agriculture
needs the highest allocation of

(8) Contribution of agriculture io
India’s GDP this year would

depend greatly upon the mon-
800n rains.

{C) As India 18 one of the high-
_Erovith countries, it has sur-
“plus food reserves Lo export

to other nations.



(1), Only (A) and (C)
(2), Ondy (C}

(3) Only (B

(4) Only (B} and (C)
(3] None of these

Dirsctions (111- 113 : Choose |

the word/group of worde which s
most simdlar in meaning to the word
printed In beld as used in the pas-
sage.
111. STARVED

{1) Deprived

"(2) Disadvantaged

13) Hungry
[4) Fasting

{5] Emaciated

112. SLAPPED
(1) Beaten
(2} Imposed
(3] Withdrawn

4 Avolded

15) Persuaded
113. PLOVED

(1} Cultivated

(2] Bulldoged

(3} Recovered

{a] Instilled

{5] Withdrew .

Directions (114 ~ 118 : Choose
the word / which (s mest op-
posite in to the word printed
in bold as used In the passage. \
114. PRESSING

(1} Unpopular

{2) Undemanding

[3) Unobtrusive

(4} Unsuitahle

(5] Unimportant
115. EVAPORATED .

{1) Absorbed {2} Accelermted

(3| Grew {4} Plunged

(5) amanaged

Direetioas (118 = 130) : Which
of the phrases (1}, (2], {3 and (4} given
below each statement should be
placed in the blank space provided so
as to make a meaningful and gram-
malically correct sentence ? If none
of the sentences {s appropate, mark
(5] 1.e. 'None of these' as the answer.
116, Refuting the rationae behind fre-

quent agitations for formation of |

scparate States, & recent re-
port ____:
(1) proved that such qltam

mmunlmn:[premm
tal property .

(2} indigated that the formation
. of small siates does not nec-
. esaarilydmprove the economy

(34 suggesled that only large scale
.agitations have been effective
in bringing out desired

.. changeinthe past -

{4} recommended dividing large
States into smaller ones to
lprove governance

{5) None of theae

117. Qverlooking the fact that water
umuylunumﬂudumlg Bum-
mer.

(L) the gl:r-'enmmt lesued gulde-
ltitr:; to all butlders to limit

consumption (o accept-
" able limits

(%) provision for rainwater ha.r-l

veating has been made to ald
irrigation in drought prone
areas

(3) the water table did not im-
~ prove even after recelving
normal monsoon in the cur-
rent year
(4} Many residential areas con-
tinue to usé swimming pools,

mﬁng large quantities of

15 Hmnnﬁhne
118. He has lost moat of the life’s
* earning Inthe stock market
but__.

(11 he still scema; to be leading
his Ufe: Juxuridusly and ex-
travagantly

(2 he couid not gave enough to

i+ TRPpaY his enormous debts

(3) stock market ls not a eafe

. optiondoinvest money unless

(4) experts have been suggest-
ing to avold investments In
stock market because of its

- . unpredictable nature
(5 Noneof these
lll- Arhieving equallty for women is
+, not ondy & lnadable goal,
o MMMHMM

v {2) the problemy s also deep
aoted inthe society and sup-

. ported by it .
(3 their empowerment is pur-
.. poaefully hampered by people
with vested. interests in all

ud;lmuufth:mchw
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(4] it is alsq equally difficuil t
achieve and maintain for lony
e

I5) None of these

or else they would nol keeys

clecting him year alter year.

(1) The party isader gave a'sirong
message 10 the mayor for im
proving his political siyle

{2) Owing to numerous scandal-
against the mayor, he was
told to resign from the post
immediately

_ |3 The mayor threatencd the
residénts agamst fling 2 o
plaint againat him

[4} The résidents must really b

_ impressed with the political
styléol thelr mayor

{8} None of these

Directions (121 - 128) : Each

guesiion below has two blanks, each

blank indicating that something 1.

been omitted. Choose the set of woiil-

for each blank that best fits the mean-

Ing of the senience as a whole.

121 Drawing attention to the pitfall-

of______ solely on Uranium i

a fuel for nuclear reactors, 1

dlan sclentiste warned that Ura

nium will not last for long il

thus research on Thorium as

e must be revived

(1) using, substitute

(2) believing, replacement

(3} depending, reserve

(4} reckoning, option

(5 relying, alternative

122. [n an effort to provide_____ lur

higher education to all, most o

the universities have been pro

viding education without ari
equate infrastructure, thus
churming out____ graduales ev

Ery year.

(1) chances, fresh

(2) platform, capable

{3) opportunities. unemployalle

(4} prospects, elighble

(% policy, incompetent

123, The move to allow dumping of

mercury___ an outcry from

resldents to the area who_
that high levels of mercury will
affect their health and destroy
ecologically sensitive farest areq

(1) resulted, Insist

(2) provoked, fear

13} Incited, detérmined

(4) activated, accept

I5) angered believe

1),




124. _ has been taken against

some wholesale drug dealers for

dealing in surgical flems without

avalid license and maintaining a

stock of__ _ drugs

(1} Note, overwhelming

{2} Step. Impressive

13 Execution, outdated

(4) Action, expired

{5} Lawsuit. invalid

Evenas the | _ __ elsewhere In

the world are struggling {0 come

out of receasion, Indian consum-
¢rs are splurging on consumer

Loods and to_____ this growth,

companies are investing heavily
ln arious seciors,

{1} economies, mest

{2] countries. inhibit

1 governments, measure

(4] natlons inflict

15) companies, counter
Directions (128 - 130) : Rear-

range the following sentences [A). (B),

i) D, (E) and [F) o make a mean.

igtu! paragraph and then answer the

i -aeations which follow :

(Y While these disadvantages of

hiofuels are serious. they are the
omily alternate encrgy source of
the future and the sooner we find
solutiong to these problems the
faster we will be able to solve
the problems we are now facing
with gasaline.
This fuel can also help to stimu-
late jobs locally since thev are
also much safer to handle than
gasoline and can thus have the
potential to turnaround a global
©COTIOILY,

I} These include dependence on
fossil fuels for the machinery re-
quired to produce biofuel which
ends up polluting as much as the
burning of fossll fuels on roads
and exorbitant cost of blofuels
which makes it very difficult for
the common man to switch to,
this option.

iD} This turnaround can potentially
help Lo bring world peace and
end the need to depend on for-
eign countries for energy require-
Ments.
Blofuels are made from plant
sources and since these sources
are available in abundance and
can be reproduced on a massive
scale they form an energy source
that is potentially unlimited.

126.

o

(E)

IIF‘I However everything is not as

green with the biofuels as (L

seeins as there are numerous

disadvantages involved which at
times overshadow thetr positive
impact.

Which of the following sentences

should be the FIFTH after rear-

rangement ?

(A

3

(5 F

127, Which of the following sentences
should be the THIRD alter rear-
rangement ?
A
c
5 E

128. Which of the following sentences
should be the FIRST after rear-
rangement ?
na
@cC
(5) E

120. Which of the following sentences
should be the SIXTH (LAST) al-
ter rearrangement 7
(ma @2c
D 4 E
5 F

130. Which of the lollowing sentences
shouid be the SECOND after re-
arrangement 7
LI} A
(3 o
{5} F
Directions (131-138) : Which of

the phrases 11}, (2), (3) and (4} given

| belnw each statement should replace
the phrase printed in bold in the sen-
tence to make it grammatically eorrect?

Ifthe senlence is correct s It (s given

and ‘No correction 18 required’. mark

{5) as the answer. .

131, Soon after the Tsunami had
killed thousands of people along
the coasts of southern India, Par-
lixment passess a bll that pro-
posed 10 set up an instituiional
mechanism to respond promptly
to natural disasters.

(1) passed a bill ithat pﬂ:lpmd
[2) passes a bill with purpose
{3 pass a bill proposing

(4) passed a bill &hich propose
(5] No correction required

133, Denlal of wages forced scientists
and teachers at the agriculture
universities throughoul the coun-

126,
(21 B
4 E

2 B
4D

‘2B
4 D

(2} B
HE

13

iry to go om stxike, crippling cru-

cial research that eould help the

slate of agriculiure in the coun-
try.

(1} lrom going on sirike

(2} which went on strike

' (3 on going for a strike

(4 Tor going to strike

(5 Nocorrection requircd
133, In an altempt to boost their prof-

its many edible ol producing com-

panies have been engaging Lhem
selves in propaganda agninsg
commonly used olls and promol-
ing exotic and expensive varict-
ies of oil as more healthler op-
tions.

(1) a8 most healthiest options

{2) as less healthy option

{3) as a healthier option

(4) as much healthiest option

(5) No correction required
14, Thanks 1o numerous governme

initlatives, rural masses which

was sarler unaware of the lux
ries of urban wa? of living are
now eonnecledfto the same

Wfestyle,

(1} who was earlier unawsare

(2} which were earller aware

(3) who were earlier conversam

(4} who were earlier unawaie

(5] No corvection required
138. Over the last few months, while

most industries are busy in re-

structuring operations, cutling
costs and firing, the Indian phar
maceutlcal and health care in
dustry was adding manpower
and giving salary hikes.

(1] a8 many industries are

(2] while most industries were

{3 while many industries is

(4) where many Industries were

{5) No correction required

Directions (136 - 1458) : In Lthe
following passage there are hlanks.
each of which has been numbered.
These numbers are printed below the
passage and against each, five words/
phrases are suggested, one of which
fits the blank appropriately. Find out
the appropriate word /phrase in each
case.

There is a constderable amouni
of research about the factors thai
make a company innovate. So is it
possible to create an environment (136)
to Innovatlon ? This is a particularly



pertinent {137) for India today. Mas-
sive problems in health, education ete.
{138] be solved using a conventional
approach but (138} creative and irino-
valive solutions that can ensure radi-
cal change and [140). There are sev-
eral factors In India's (141). Few coun-
tries have the rich diversity that Indla
or its large, young population (143).
While these [148) innovation policy in-
terventions certain additional ateps are
also required. These inchade (144) in-
vestment in research and development
by [1485) the government and the pri-
vate s¢ctor, easy transfer of technol-
ogy [rom the academic world etc. To
fulfill its promise of being prosperous
and to be at the forefront, Intita must
he innovative, a

138. (1] stimull (2) conductve
(3} incentive (4] facilitatad
(5] impetus
137. (1] objective  [2) controversy
(3] doubt {4) question
[5] Inferente
138. (ljcannot  (2) possibly
{3) should (4] never
(5) must
139, (1) necessary (2) apply
13) need (4) conaider
{5) requ
140. (1) quan
{2) advantages
(3} increase
(4] chaos
(5} growth
141. (1) challenges (2) praises
(3] favour - [(4) Jeverage
(5] estesm
142. (1) blessed (2] enjoys
(3) endows (4] prevails
(5 oceurs
143, (1) ald (2) jeoparadise
{3) promotes  (4) endure
(5) cater
144. (1) acute (2) utilising
(3} restricting  (4) inspiring
(5) tncreased
145. (1] both
(2] besides
(3) combining
{4) participating
(5] also
Directions (146-150) : In each
of the following questions four words
are given of which two words are most
nearly the same or opposite In mean-

ing. Find the two words which are most

nearly the same or opposite in mean-
ing and find the number of the cor-
rect letter combination, that Is your

ATIEVET.
148, (A) consent

(B) nascent
(C) emerging (D) insecure
(lJA-C @B-D
(9B-C 4)A-D
BA-B

147. (A) elated (B) eccentric
(C] explieit (D} abmormal
{(l1A-B 12B-D

MA-C [HA-D
SD-C

148. (A) shundance (B) incomparable
(C) projection (D) plethora '
(11A-C (21A-B
(3C-D 4B-D
BYA-D

149, (A) purposefully
(B) inaccurately
(C) inadvertently
(D) unchxngeably
{(hA-C 2)A-B
PB-C  [4B-D
SA-D -

100. (A)germane  (E) penerate
([Clraliabls (D) lrrelevant
B-D (2B-C
(JA-B Mec-D
B A-D
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